The Single-Suited Quiz

What is your call in the following situations?
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1. «J6 2. &« A 3. 3
v AKJ1062 v A6 v J6
¢ 65 ¢ KQJ9532 ¢ AK9873
« AQ10 765 & AK32
lv — 1a le - 1v le — 1a
?7? ?? ??
4. 4 J6 5. « AQ10 6. ¢ 4
v AKJ1062 v 6 v AKJ1085
¢ 65 ¢ AKJ1062 ¢+ KQ6
« AQ10 » Q65 « AJ10
lv — 2e¢ le — 14 lv — 14
?7? ?? ??
7. « AKQJ9543 8. &« K7 9. ¢ A
v AQ3 v] v QJ3
¢ 102 ¢ K5 ¢+ AKS8
& --- » AKQ98532 » KJ9865
P (P) ?? 1 — 1a 1 - 1¢
?? ??
10. Q43 11.4 K8 12.4 11073
v9 v KQJ1082 v A7
¢ K82 ¢+ AQ3 ¢ 185
& AKJ632 » K6 » AK86
1 — 1e lv - 1e le — 1a




